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£, be the path going from (1, 0) to (0,1)
&Hd then contmmng from (0,1) to (—

along the quarter unit circle in
’(&) (5 pomts) Show that the vector field F =

2,0) along straight line segment,

(€Y, ze¥) is conservative and evaluate [ F dr.
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(5) (5 points) Evaluate C(ey,:cey — ) dr (a, ) = (~2,9)
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Problem 7. (15 points) Let G — (1,y, —2)

oriented outwards. (.S is not closed.)
: - < s
a) (7 points) Find a vector po

tential F' so that G
(b) (8 points) Evaluate /







Problem 8. (15 points) Let W be the region enclosed by

the planes z =z, z = -2z, tt+ytz=1
and y=0. Let S be the

(21.95@_@) boundary surface of W . Evaluate the flux ] / 22,y + 2,z — z) dS
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